Division par 10° (D)

91+ 103 =

24 + 103

70 = 103

87 + 10°

35 +103% =

84 +10° =

96 = 10° =

8 +103=

68 + 10° =

20 +10% =

Trouvez chaque quotient.

66 + 10% =

95+ 10° =

30 +10% =

90 = 103 =

4 +103% =

2+10°=

42 - 103 =

91+ 103 =

86 + 10° =

22 +10%=
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Division par 10° (D) Solutions

91 +10°*=0,091

24 +10°=0,024

70 +10°=0,07

87 + 10° = 0,087

35+ 10°=0,035

84 + 10° = 0,084

96 + 10° = 0,096

8 = 10°=10,008

68 + 10> = 0,068

20 +10°=0,02

Trouvez chaque quotient.

66 +~ 10° = 0,066

95 + 10° = 0,095

30 +~10°=0,03

90 + 10° = 0,09

4 +10°=0,004

2 +10°=0,002

42 +10° = 0,042

91 + 10°* = 0,091

86 + 10° = 0,086

22 +10°=0,022
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